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16. (H3IL[EXR) 10-15' [[ ——
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2. (FrLrD) 10:15
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25 (FrLrd) |
6 bye — |
10:15
7 bye — ]
16 g ME BB 1
16. (ALEXK)
1 1 9 NG =
1. (BETY) |
10 bye — |
- 5E S 10:15
25 (Fr L) 10-15'
19 BX i — 1
06. (R2—TC) 10:15
13 gk IERR
09. (AUA>TC) 10-15'
14 "B B |
25 (FrLd) 10:15
15 bye —
7 o FE &L 1
B 16 50 ko ke 12 9: 15— |
3 r== 17 [
= 08. (F¥YRTC) |
18 bye —
0 R EE 10:15
01. (EXEETC) 10-15'
00 ME E% |
06. (RZ2—TC) 10:15
91 /N $I— '
01. (EXEMET C) |
22 bye —
10:15
23 bye —
20. (Ry b, A1)
9 25 @ £—
20. (Ry b, A1) |
26 bye —
’7 R T 11:00
01. (EXEKTC) 10-15'
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2. (Ry b, A1) 10:15
9g WE '
25 (Fr L) 10-15'
30 BF &L |
07. (V=—FEX) 11:00
31 bye —
25 (FrLrd)
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1R 2R 3R MR SF
15. (FOETC) |
34 bye — )
5 55 11:00
18. (YNEY) 11;00'
3p R AR 1
1. (HETY) 10:15
37 MR &
2. (FrLrD) 11;00'
3g FHE BT 1
01. (EXEET C) 11:00
39 bye 1
1 O 40 A+E EE& |
2. (FyLoD)
2.(HLTC) |
42 bye —
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43 bye 1
44 BB B |
5. (FrLrd) 10:15
45 BX BE
06. (R2—TC) 11:00I
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01. (EXEMET C) 11:45
47 bye 1
4 g A 1
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5 r== 49 [ 3
=) 1. (BETY) |
50 bye —
__ 11:45
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15. (FDETC) 11:00}
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5g ME E |
24. (EAHKF) 11:45
55 bye ]
12 56 Ik & 1
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58 bye —
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59 bye 1
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25 (FrL>oP) 11:45
63 bye 1
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